HIGHER MATHEMATICS
Answers to Exam Questions on Recurrence Relations
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16.(a)
3 is not between (1 and 1, so the 
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(ii)
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18.(a)
limit = 100
(b)
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(b)
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(b)(i)
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(b)(i)
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(ii)
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22.
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23.(a)
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(b)
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     (c)(i)   limit = 0
(ii)
2 is not between (1 and 1

25.(a)
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(b)
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(c)
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limit = 14
(b)
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(b)
1st Dec;   £290∙68

30.(a)
4 feeds



     (b)(i)   
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         (ii)   limit = 4g;   It is safe to continue feeding the trees at this rate indefinitely
                                     since 4 < 5.

31.(a)
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     (b)
limit = 312∙5 mg;   It is safe to administer this antibiotic over an extended period of 

                                           time since 312∙5 < 350.

32.(a)
23∙2 units

     (b)
limit = 93∙3 units;   The doctor should prescribe this course of treatment since 

                                            93∙3 < 100.

33.(a)
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;   limit = 47∙3 mg/l

     (b)
The engineer’s advice is acceptable since 47∙3 < 50.

34.(a)
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     (b)
frog:  
 limit = 48 feet; The frog will not escape from the well since 48 < 50.


toad:
limit = 52 feet; The toad will escape from the well since 52 > 50.

35.
KILLPEST:   
limit = 769 pests
PESTKILL:
limit = 765 pests 


PESTKILL will be more effective in the long term since 765 < 769.

36.(a)
limit = 2∙5 m

(b)
25%

37.(a)
limit = 6∙25 mg/l;   This level of discharge would result in fish being endangered since 

                                           6∙25 > 5.

     (b)
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   limit = 4∙375 mg/l;


The Local Authority should now grant permission since 4∙375 < 5.

38.(a)
13∙1 mg
(b)
3 doses

     (c)
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     (d)
limit = 52∙3 mg;   The serum can be administered indefinitely and the agent will stay 

                                         alive since 52∙3 < 55.
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